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Grade 7 Vocabulary 

Week 3: Worksheet 4 

Directions: Choose the word that best completes each sentence. Write it on 

the line. 

1) He was just _________________ (commodities, exacerbating, trending) the 

problem by yelling at the workers. 

2) The __________________ (rainforest, logger, greenhouse) can get 

anywhere from 80 to 400 inches of rain a year. 

3) A _______________ (greenhouse, swathe, zoonotic) disease is passed from 

animals to humans. 

4) The ________________ (swathe, rancher, greenhouse) contains plants that 

need sun and warmth to survive. 

5) A large _______________ (logger, swathe, campaign) was cut to make room 

for equipment. 

6) A _______________ (logger, rancher, felling) cares for animals and 

sometimes crops. 

7) The trees were felled by the ____________ (logger, rancher, conservation). 

8) A popular ______________ (campaign, logger, deforestation) can be 

_______________ (trending, indigenous, swathe) for weeks at a time. 

9) An ________________ (felling, conservation, indigenous) tribe can be 

hidden away for many generations. 

10) Continual ________________ (rainforest, deforestation, trending) is 

causing some animals in the rainforest to go extinct. 
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Answer Key 

Worksheet 4 

1. exacerbating 

2. rainforest 

3. zoonotic 

4. greenhouse 

5. swathe 

6. rancher 

7. logger 

8. campaign, trending 

9. indigenous 

10. deforestation 

 

 


